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Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) All questions carry equal marks.

Q1) Answer in 500 words (any one) : [20]

a) Discuss the Naxalism problems in India.

b) How can we solve the Kashmir issue? Suggest measures.

02) Answer in 500 words (any one) [20]
a) Discuss about on going LIC in North East of India.

b) Why socio-economic dimensions should be more strong to strengthen
the internal security?

03) Answer in 250 words (any two) : [20]

a) How to stop urban terrorism in India?
b) Why the role of media is necessary in security issues?
c) Why Pakistan based ISI is creating internal security problems in India?

d) Why the neutralisation of Red corridor is on priority to India’s internal
security?
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04) Answer in 100 words (any four) :

a)
b)
c)
d)
e)
)

Role of State.

Role of Civil Society.

Upgradation of Second line of Defence.

Concept of SEZ.
Social Integration.

Political Stability.
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1) ¥d Uy Al stavaes 3.
2) Gd Uy GHE T[T TR,
3) SWEIhREA 37k YUl 0T EIitadTd.

757 1)

97 2)

97 3)

500 vreara SW gt (g — Uh) [20]
H) HRATHA AR T97 TR o<l .

) STYUT HIPHR T9H HHT TS Iehdl ? TS SUTIHSHT o,

500 vr=ad SW fergt. (g — Uh) [20]
) I YD T — Al g god qreR =i H.
q) TG GRS TS STk Ueeh WTed ST S0l TR 3118,

250 vyregma S fotgt. (FRivadE — gF) [20]
) WRATISA Vgl Cgaarg el ATeg Iehdl.

) e fauan TR Aieawit YiHeh i T ST,

®) WRATA TR eehd [S] deeat siaria Trera e ot fAmior wiva e ?
¥)  WRATSH! Siid GASTe I8 ShiNSISHEN Jiddl STt Sl hil TS 3112,



g7 4) 100 vieema S forgt (R — =R) [20]
A) T HE

F) AN AT S

®) Wehe oA S fehat sngHidheRt
g) SEZ =it =amdt

3) WS T

W) TR R

BeR
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